ELEC 2200-002 Digital Logic Circuits 
Fall 2012
Homework 3 Problems
Assigned 9/5/12, due 9/12/12

Problem 1: Using the method of positive binary integer multiplication, multiply 4-bit 2’s complement integers, 1110 × 1101, to obtain an 8-bit result. Show the steps of computation.
Problem 2: Multiply 4-bit 2’s complement integers, 1110 × 1101, using the direct multiplication of 2’s complement integers. Show the steps of computation.
Problem 3: Carry out the calculation steps for 4-bit binary division of positive numbers 1001/0100 (i.e., 9/4) using the restoring division algorithm.

Problem 4: Carry out the calculation steps for 4-bit binary division of positive numbers 1001/0100 (i.e., 9/4) using the non-restoring division algorithm.





















